解一元一次不等式组练习题

1 eq \b\lc\{(\a\al\co1\vs12( 69x-121＜x, \f(8,9)x＜-59))              ② eq \b\lc\{(\a\al\co1\vs10( 413x+36＞78, 15x-6≤57))
③eq \b\lc\{(\a\al\co1\vs10( 34x-73＞-37x+7, 10x-41＞0))         ④eq \b\lc\{(\a\al\co1\vs10( 9x-28＜2(13x+20), \f(12,13)x-11≤87-\f(79,13)x))
⑤eq \b\lc\{(\a\al\co1\vs10( 160x-98＜159x+16,\f(1, 3)x-\f(3x+28,  2)＜\f(1,7)))       ⑥ eq \b\lc\{(\a\al\co1\vs10( 13x-7＜x+35,34-x≤7-12(x+6)))
⑦eq \b\lc\{(\a\al\co1\vs10( 7-23x≥63x-55, 3-\f(3,4)(x-4)＜0.5))        ⑧eq \b\lc\{(\a\al\co1\vs10( 76x+360≥34(x+9), \f(x-9,2)≤2-\f(2x-13,8)))
⑨eq \b\lc\{(\a\al\co1\vs10( 51x＞20x-186,\f(x-9, 5)≤\f(x+2, 12)))              ⑩eq \b\lc\{(\a\al\co1\vs10( \f(1,2)x-2(x-5)≥10, \f(1-23x, 2)＞x+16))
 eq \o\ac(○,11)eq \b\lc\{(\a\al\co1\vs10( -3(x+18)-(x-54)＜78, \f(3x+5,3)-\f(7-x, 2)≤8))       eq \o\ac(○,12)-2≤eq \f(-11x+2,4)≤1
参考答案

3� x＜- eq \f(531,8) ;          ②eq \f(6,59) ＜x≤eq \f(21,5) ；

2 x＞eq \f(41,10) ;              ④-4＜x≤14；
⑤-eq \f(594,49) ＜x＜114；      ⑥x＜-9；

⑦不等式无解           ⑧-eq \f(9,7) ≤x≤eq \f(65,6) 
⑨-6＜x≤eq \f(118,7)           ⑩x≤-eq \f(31,25) 
 eq \o\ac(○,11)-eq \f(39,2) ＜x≤eq \f(59,9)           eq \o\ac(○,12)-eq \f(2,11) ≤x≤eq \f(10,11) 

